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Solutions
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2. C

Point P is the centroid. The centroid splits the median into a 2:1 ratio.

3. B
The sidescan be 2,3,4and 2,4, 5
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5. E
(n—2)-180° = 4860°
n=29
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9. C
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10. C

Lines that do not intersect are either parallel or skew. If parallel, then coplanar. If skew, then

noncoplanar.

11. C

A= \/s(s —a)(s—b)(s—c), where s = semiperimeter

A=.[10(1)(5)(4) =102
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12. B
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13. C

Perimeter = 12ﬁ

32

14. A
The negation of “all” is “some are not.”

15. B
1h(4x)—x2 2xh=x’ x(x—2h)=0 x=0 x=2h
2
X
2.1
x 2

X+1+x=7
x=3

N | X




Theta 2-D Geometry MABS National Convention 2018

16. A
6-9-£
6-9-sin60° ) 273
2 2 2
17. D
367-167 20 5
367 36 9
18. C
EF AF 2 3 3
FC FD 4 3 2

19. A

20. A
The Euler line goes through the circumcenter and the orthocenter. In a right triangle, the circumcenter is

the midpoint of the hypotenuse G,zj and the orthocenter is the vertex of the right angle (1, 5). Using

N

5—

m =— =-2 andthe point (1, 5), the intercept is (0, 7).
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Perimeter = 20
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22. A
23. D
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24. C
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2 360° 2

3x=3y—x
4x =3y

x 3

y 4

. . . 9
Ratio of areas of small triangle to large triangle: Te

Ratio of areas of trapezoid to small triangle:

Extend AB and BC to create 2 30°—60°—90°

0106 g5

triangles. The area of AECD is

333943
2 2

area of AABE is

9+/3
guadrilateral ABCD = 50\/5—7\/_ =

o 2 .
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25. C
A (20— x)+(20—x)+2x =40
X 7 20
20— x
C
20— x
1%
5 X 20
26. A
x=12/3-12-x
12 12./3 x=633-6
24
27. D
(x,y) = (~y,x)
28. C
12 ABEG = ADEH by ASA
B c 5 12-2:=12
2
4 4
D H C
29. C
(8—x)> +h* =107
X +h =(221)
x=3
h=53
30. B
x*+4? =9
x =+/65

AB=2./65




